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1. MMacnopT ¢oHaAa OLIEHOUYHBIX CPEACTB

B pesynbrare ocBoeHus ydeOHOU nuctuiuinabl OI'CD.03 MHOCTpaHHBIN S3bIK B
npodeccuoHaTbHON
npeanycmorpenabiMu - @I'OC  no cnenuansHoctn  CIIO

TEXHUUYECKOE OOCTY>KMBAaHUE€ W PEMOHT DJICKTPOHHBIX MPUOOPOB U YCTPOMCTB

ACATCIBbHOCTH

CJICAYIOIINMHA O6I]_II/IMI/I KOMIICTCHIIUAMM.

OK 10. ITons3oBarbest mpodeccuoHaIbHON TOKYMEHTAlUEe Ha rOCy1apCTBEHHOM

u

HMHOCTPAHHOM A3bIKaX.

oOy4aromuiics

JOJIKCH

1.3. HGHB U INIAHUPYCMBIC PC3YJIbTAThl OCBOCHUA JUCHHIIJIMHBI:

Kon YMmennsa 3HaHUA
IIK, OK
- IIOHUMAaTh  OOIMH  CMBICIH | - 0COOEHHOCTH
BOCIIPOU3BEAEHHBIX BBICKA3bIBAHUMN | MPOU3HOILICHHS
OK 10 |B mpenenax jauTepaTypHOW HOPMBI | HHTEPHAIIMOHAIBHBIX CJIOB U

Ha OBITOBBIE U MPOGECCUOHATIbHBIC

TEMBI,

- TIOHMMAaTh COJIEp)KaHUE TEKCTa,
Kak Ha 0Oa30Bble, Tak HM Ha
poecCHOHANILHBIE TEMBI;

- OCYIIECTBJISTh BBICKA3bIBAHUS
(YcTHO ¥ NHCBMEHHO) Ha
WHOCTPaHHOM SI3BIKE Ha
npoeccuoHaIbHbIC U

IIOBCCIHCBHBIC TCMBI,

- OCYILECTBIIATH MEpPeBOAbl (CO

cioBapeM W 0e3  cioBaps)

IIpaBuJIa YTCHUA

TEXHUUYECKOM TCPMUHOJIOTHHN

u JICKCHKH
npodeccuoHanTbHON
HaIpPaBJICHHOCTH;

- OCHOBHBIC

001eynoTpeOnTeIbHBIE
TJ1aroJIbI OBITOBOI u
poecCHOHANTEHOM JICKCUKH;
— nekcuueckuii (1000 - 1200
JICKCHUYECKUX CJIMHUIY)

MUHUMYM, OTHOC)II].[HﬁC?I K

o0J1aIaTe

11.02.16 MoHTax,




MHOCTPAHHBIX TEKCOB
npodeccuoHaTbHON
HaIpaBJICHHOCTH;

- CTPOUTH MPOCTHIC BBHICKA3HIBAHHUS
o cebe u cBoeil mpodeccuit
IeSTeNbHOCTH;

- POU3BOIUTH KpaTKoe

00ocHOBaHHE U OOBICHEHHE CBOUX
TEKYIITUX u TTAaHUPYEMBIX
JICUCTBUIA;

- BBITIOJTHATH TUCBMEHHBIE TIPOCTHIC
CBSI3HBIE COOOIIEHUS Ha
UHTEPECYIOIIHE
po¢eCCUOHAIIbHBIC TEMBI;

- pa3pabaTeiBaTh  IUTaHBI K
CaMOCTOSATEILHBIM ~ paboTaM ISl
MOJTOTOBKMA TIPOEKTOB U YCTHBIX

COOOIIECHU.

OTHMCaHUIO PEIMETOB,
CPENCTB U IIPOLIECCOB
npodeccuoHanbHON
JEATEIIbHOCTH;

- OCHOBHBIC TI'paMMAaTH4YCCKHC
ImpaBuJia, HCO6XOI[I/IMBIC JJIs1
IMOCTPOCHUA IMPOCTBIX u
CJIOKHBIX HpC,IIJ'IO)KCHI/Iﬁ Ha

npo¢eCCUOHAIbHBIC TEMBI.

DopMBbI IPOMEKYTOUYHON ATTECTANUU MO AUCHUIITIMHE

YueOHbIH .
@opMbl IPOMEKYTOUHOMH aTTECTAIUMN
ceMecTp
4,6-9 | IuddepeHunpoBaHHbIN 3a4eT
3,5 ITpoBepouHbie pabOTHI




2. 3aiaHus 1J15 OLEHKHA OCBOEHUS Y4eOHO TUCIUIIHHBI
Paznen 1. OcHOBHOE cojiep:KaHue

KoHTpoabHBI cpe3 3HAHUH

3ananue 1. [locTaBbTe cieaymomue CylmecTBUTEIbHbIE BO MHOKECTBEHHOE
YHCJI0.

Lady, tragedy, cat, book, information, glasses, peach, boy, country, mouse, 0x,
sheep, dog, secretary, crowd, pencil, leaf, tomato, tooth, man, eye, sugar, money,
lemon.

3amanue 2. Packpoiite cko0ku, ynorpe0dJisisi riaarojsl B Present, Past uiu
Future Simple.

. | (to go) to bed at ten o'clock every day.
. | (to go) to bed at ten o'clock yesterday.

.| (to go) to bed at ten o'clock tomorrow.

1

2

3

4. She (to do) all the washing in their house.

5. He even (not to know) how to use the washing machine.

6. Two years ago they (to be) rich and money (to be) never a problem.
7.You (to think) you (to be) happy in your new neighborhood?

8

. When the cabbage soup (to be) ready?

3ananue 3. IlocTaBbTe NpeAI0KEeHUS B BONPOCUTEIBHYIO M OTPULIATEIbHY IO
(opmbI.
1. He studies at the college.

2. He will visit us some day.

3. We usually watched TV in the evening.

3ananue 4. BoioepuTe NpaBUJIbHBII BADHAHT O0TBETA ¢ KOHCTpYKIMeii there is
/ there are.

1. There ... many children in the park.

A. are



B.is

2. There ... many ways of solving such a problem.
A.is

B. are

3. There ... a man outside the building.

A. weren’t

B. wasn’t

4. How many children ... there in your class?
A.is

B. are

5. There ... much sugar left.

A.isn’t

B. aren’t

3ananue 5. BoiOepure npaBUIIbHBINA BAPHAHT 0TBETA, COEPKALINM
NPUTAKATEIbHBIN NAa/IeXK CYLIeCTBUTEIbHOIO.

1. I'm going to spend the night at my aunt house.
A. my aunt' house

B. my aunts' house

C. my aunt's house

D. my aunts house

2. These are children books.
A. children's books

B. children' books

C. childrens books

D. childrens' books

3. What's the name this street?
A. the names' street

B. the names street



C. the name's street

D. the name of this street
4. Your father has gone to the butcher.
A. the butcher

B. the butcher's

C. the butchers

D. the butcher’

5. This is the roof house.
A. the roof house

B. the roof of the house
C. the roof's house

D. the roof' house

Kontpouabnasi padora Ne 1

JAudpepeHurpoBaHHbIi 3a4eT

3ananmue 1. [lepeBeaure 4acTh TEKCTAa MUCbMEHHO.

A computer is a machine with an intricate network of electronic circuits that

operate switches or magnetize tiny metal cores. The switches, like the cores, are

capable of being in one of two possible states, that is on or off; magnetized or

demagnetized. The machine is capable of storing and manipulating numbers,

letters, and characters (symbols). The basic idea of a computer is that we can make

the machine do what we want by inputting signals that turn certain switches on and

turn other off, or magnetize or don’t magnetize the cores.

3ananue 2. CocTaBpTe Napbl WK IPyNNbl OJIM3KUX 110 3HAYEHHUIO CJI0B U3

nepevHs.



To turn on, to provide, to type, to accept, to help, to learn, to observe, to call, to
tell, to keep, to feed, to solve, to relate, to switch off, to communicate, to receive,
to supply, to switch on, to assist, to print, to study, to input, to turn off, to decide,

to store, to say, to name, to watch.

3ananme 3. HazoBure Tpu Gopmbl CileAyIOIIUX HENMPABWIbHBIX IJ1Ar0JI0OB.
To be, to have, to mean, to learn, to become, to bring, to know, to think, to buy, to
take.

3ananue 4. Haiiinre Y)KBUBAJIEHTHI.
. Intricate

. Electronic circuit

. To operate switches

. To store numbers

. To manipulate

. To switch on

. To turn off

. To process data

© 00 N o o A w N PP

. To supply

10. Addition

A. CnoxeHnue

B. CnoxHblii, 3ammyTaHHbINA

C. OGpabatbIBaTh JaHHBIC

D. [IpuBoauTh B ACHCTBUE TIEPEKITIOYATEIIN
E. Bxirouats

F. Cuabxatb, 00ecrieunBaTh

G. YmpaBusithb

H. 3anomunate uncia

|. Beikroyars



J. DnektpoHHas cxema

Pasnea 3. [IpodeccnoHAIBHBLIN MOAVJIb

HCKCI/IKO-FpaMMaTI/I‘{CCKI/Ie YHPaAKHCHHA

1. Translate the five major functional units of a digital computer.

1) Input— to insert outside information into the machine;

2) Storage or memory — to store information and make it available at the
appropriate time;

3) Arithmetic-logical unit — to perform the calculations;

4) Output — to remove data from the machine to the outside world,;

5) Control unit — to cause all parts of a computer to act as a team.

2. BcnomMHuTe 3HaYeHHE HOBBIX CJOB H MNONLITailiTeCh nmepeBecTn
CJI0BOCOYECTAHUA, yHOTpeﬁ.ﬂﬂeMble C 3TUMHU CJI0BaAMMU.

Computer, analog computer; digital computer; hybrid computer; all-purpose
computer; general-purpose computer; fifth-generation computer; game computer;
handheld computer; mobile computer; multimedia computer; notebook computer;
pocket computer; portable computer.

Unit: unit of memory; unit of data; unit of measurement; arithmetic unit;
arithmeticlogical unit; central processing unit; computing unit; control unit;
functional unit; input unit; output unit; network unit; system unit.

Function: arithmetic function; checking function; complex function; computer
function; continuous function; conversion function; distribution function; encoding
function; logical function; numeric function; output function; program function;
search function; software function; support function; utility function; variable
function.

Control: access control; batch control; coding control; distance / remote control;

error control; execution control; hardware control; input/output control; memory

10



control; power control; production control; program control; rate control; self-

acting control; software control; system control.

KonTposbHas paGora Ne2

1. ITonOepuTe BMECTO MPONMYCKOB MOAXOASAIINE MO CMBICJTY CJIOBA.

1. The method of ... all functional categories to one another represents the
functional

organization of a computer,

a) showing; b) relating; c) performing

2. Instructions and data are fed through the equipment to the ... .

a) output; b) memory; c) input; d) control

3. The main units of the computer communicate with each other ... a machine
language.

a) in spite of; b) because of; ¢) by means of

4. The input also ... the information into the pulse — no-pulse combinations
understandable to the computer.

a) converts; b) removes; ¢) accomplishes

5. The four ... are used to perform basic operations in a computer.

a) basics; b) circuits; c) equipment

6. A computer can solve very complex numerical ... .

a) communication; b) computations; c) instructions

7. Numbers and instructions forming the program are ... in the memory.

a) solved; b) stored; c) simulated

8. The control unit serves for ... orders.

a) reading; b) interpreting; ) inputting

9. The function of memory is to store ... the original input data the partial results.
a) not only ... but also; b) either ... or; ¢) no sooner ... than

10. The ... includes the control and arithmetic-logical units.

a) flip-flop; b) digital computer; c) central processor
11



2. 3anoJiHUTE NPOIYCKHU, BHIOPAaB NPABWIBHYI0 IPAMMaTH4YeCKYI0 (hopMmy.

1. The simplest digital device is any device which [a) can; b) could; ¢) must] count.
2. In ancient days man [a) learns; b) learned; c) has learned] to substitute beads for
fingers to help him count.

3. The ancient Chinese simplified the [a) counted; b) to count; ¢) counting] board
into abacus.

4. The Japanese improved the abacus making it [a)more efficient; b)much efficient;
c) efficienter].

5. The tremendous speeds of computers and the flexibility [a) building; b) built; c)
to build] into them [a) because of; b) according to; ¢) due to] the logical control
make modern computers more powerful than mechanical calculators.

6. The big problem in understanding digital computers is the logic which relates
the logical elements into a unit [a) performed; b) performing; c) having performed]
arithmetic and logical operations.

7. Arithmetic operations [a) converted; b) are converted; c) was converted] into a
sequence of simple logical operations.

8. Any digital calculation is usually [a) breaking; b) broken; c) being broken] down
into a sequence of elementary operations.

9. A computer is a device [a) to accept; b) has accepted; c) accepts] a set of
instructions and [a) executes; b) executed; c) to execute] them in the appropriate
sequence.

10. The flip-flop [a) is; b) was; c) has been] a storage cell with two inputs and two

outputs.

Kontpoabnasi padora Ne 3

Jlexcuko-rpaMMaTH4YeCKUE YIPAKHEHUS

12



Read and write down the main directions of technological modernization of
the radioelectronic industry:

1. Creation of a research and production complex with a sufficient set of
technologies for the production of modern radio-electronic products.

2. Optimization of organizational, scientific, technical and industrial cooperation
between enterprises for wider use of a single technological base.

3. Expanded use of innovative radio-electronic technologies through their creation,
implementation, borrowing and evolutionary development.

4. Elimination of ineffective, unused and unreasonably duplicated production and
technological resources.

5. Active development and production of innovative high-tech products with the
priority of the civil sector.

6. Increase overall labor productivity and speed up design and production cycle of
development.

7. Preservation and development of human resources.

KonTpoabnas padora Ne 4
1. ITogOepuTe BMECTO MPONMYCKOB MOAXOAMAIIEE [0 CMBICJLY CJI0BO.
1. The most common for planning the program logic are flowcharting
and pseudocode.

a) technologies; b) technics; ¢) techniques

2. was designed for dealing with the complicated mathematical
calculations of scientists and engineers, a) COBOL; b) FORTRAN; c) PL/I
3. Is the foundation of any programming languages.

a) a set of rules; b) a group of numbers; ¢) a lot of instructions

4.1/0 match the physical and electrical characteristics of input-output
devices.

a) interchanges; b) interfaces; c) interpretations

5. Letter-quality, dot-matrix and ink-jet printers are all printers.

a) line; b) page; c) character
13



6. The most common device used to transfer information from the user to the

computer is the

a) keyboard; b) printer; ¢) modem

7. Input-output units link the computer to its external

a) requirement; b) development; ¢) environment

8. 1/ O devices can be classified according to their speed, visual displays being
devices.

a) high-speed; b)medium-speed; c) low-speed

2. Coruiacyiite €J10Ba B JIeBO#l KOJIOHKE ¢ HX HHTepIpeTAlei, MPeI10KeHHO

crpasa.

1. Computer a) an electronic device accepting data processing
results from the computer system;

2. Input b) the unit performing arithmetic operations called
for in the instructions;

3. Output ¢) the unit coordinating all the activities of various
components of the computer. It reads information,
enterpretes instructions, performs operations, etc.;

4. Software d) a set of programs designed to control the
operation of a computer;

5. Hardware e) lists of instructions followed by the control unit
of the CPU:

6. Storage f) an electronic device keying information into the
computer,;

14



7. CPU g) the unit holding all data to be processed,

intermediate and final results of processing;

8.CU h) visible units, physical components of a data

processing system;

9. ALU 1) the unit that directs the sequence of system

operations, selects instructions and interpretes them;

10. Program J) a device with a complex network of electronic
circuits that can process information, make

decisions, and replace people in routine tasks.

3. Omnpenenure HeJU4YHbIe (POPMBI I71aroJia, coaep:Kaluecss B CJeIYHOLIHX

npenio:xkeHusx. [lepeBeaure ux.

1. The problems to be studied are of great importance.

2. The problem studied helped us understand many things.

3. To study the problem we must make some experiments.

4. To study the problem means to give answers to many questions.

5. Having studied the problem we could answer many questions.

6. The problem studied is unlikely to be of great interest.

7. Scientists studying the problem made a lot of experiments to get answers to the
required questions.

8. The problem to have been studied last year will not help us to solve our task
now. 9. Having been well prepared for the examination the pupils could answer all
the questions the teacher asked them.

10. The problem to be discussed at the meeting requires careful consideration.

3ananus k AuddepeHUMPOBAHHOMY 3a4€Ty N0 JMCUHUILINHE

1. BoinosiHUTE MepeBo TPAMMATHYECKHUX NP eEAJI0KEHHUI.
15



l.

I. Accuracy is one of the major items in judging a control system. The higher the
accuracy of the system, the less errors the system makes.

2. The digital computer employs the principle of counting units, digits, and hence,
if properly guided, gives answers which have a high degree of accuracy.
3. Electronic computers can choose which of several different operations are the

right ones to make in given circumstances. Never before has mankind had such a
powerful tool available.

4. In many cases man has proved to be but an imperfect controller of the machines
he has created. Thus, it is natural, that wherever necessary, we should try to replace
the human controller by some form of automatic controller.

5. It is necessary to draw a distinction between calculating machines and
computers, the former requiring manual control for each arithmetic step and the
latter having the power to solve a complete problem automatically.

.

1. Many servomechanisms and regulators are known to be composed of a number
of control elements connected in series, the output of one being used as the input to
the next. 2. To expect a computer to work for at least several hours without a fault;
that is to say, supposing a speed of one thousand operations per second, to perform
more than ten million operations.

3. Digital programming implies the preparation of a problem for a digital computer
by putting it in a form which the computer can understand and then entering this
program into the computer storage unit. A problem to be solved by a digital
computer must be expressed in mathematical terms that the computer can work
with.

4. Among all forms of magnetic storage, magnetic tapes were the first to be
proposed in connection with digital computers.

5. Programming a computer involves analyzing the problem to be solved and a

plan to solve it.

16



2. IIpouTHnTe TEKCTHI (110 BAPHAHTAM) M COCTABbTE KOPOTKYI0 AHHOTALMIO HA
KaKIbIi U3 HUX.
1. The WORLD-WIDE WEB

People have dreamt of a universal information database since late nineteen forties.
In this database, not only would the data be accessible to people around the world,
but it would also easily link to other pieces of information, so that only the most
important data would be quickly found by a user. Only recently the new
technologies have made such systems possible. The most popular system currently
in use is the World-Wide Web (WWW) which began in March 1989. The Web is
an Internet-based computer network that allows users on one computer to access
information stored on another through the world-wide network. As the popularity
of the Internet increases, people become more aware of its colossal potential. The
World-Wide Web is a product of the continuous search for innovative ways of
sharing information resources. The WWW project is based on the principle of
universal readership; "if information is available, then any person should be able to
access it from anywhere in the world." The Web's implementation follows a
standard client-server model. In this model, a user relies on a program (the client)
to connect to a remote machine (the server), where the data is stored. The
architecture of the WWW is the one of clients, such as Netscape, Mosaic, or Lynx,
"which know how to present data but not what its origin is, and servers, which
know how to extract data”, but are ignorant of how it will be presented to the user.
One of the main features of the WWW documents is their hypertext structure. On a
graphic terminal, for instance, a particular reference can be represented by
underlined text, or an icon. "The user clicks on it with the mouse, and the
referenced document appears.” This method makes copying of information
unnecessary: data needs only to be stored once, and all referenced to it can be

linked to the original document.

2. SUCCESS of the WWW
17



Set off in 1989, the WWW quickly gained great popularity among Internet users.
What is the reason for the immense success of the Whbrld-Wide Wfeb? Perhaps, it
can be explained by CERN's* attitude towards the development of the project. As
soon as the basic outline of the WWW was complete, CERN made the source code
for its software publicly available. CERN has been encouraging collaboration by
academic and commercial parties since the onset of the project, and by doing so it
got millions of people involved in the growth of the Wfeb. The system
requirements for running a WWW server are minimal, so even administrators with
limited funds had a chance to become information providers. Because of the
intuitive nature of hypertext, many inexperienced computer users were able to
connect to the network. Furthermore, the simplicity of the Hyper Text Markup
Language, used for creating interactive documents, allowed these users to
contribute to the expanding database of documents on the Web. Also, the nature of
the World-Wide Web provided a way to interconnect computers running different
operating systems, and display information created in a variety of existing media
formats. In short, the possibilities for hypertext in the world-wide environment are
endless. With the computer industry growing at today's pace, no one knows what

awaits us in the 21st century.

3. ABRIEF HISTORY of the INTERNET
In 1973 the Defense Advanced Research Projects Agency (DARPA) initiated a
research program to investigate techniques and technologies for interlinking packet
networks of various kinds. The objective was to develop communication protocols
which would allow networked computers to communicate transparently across
multiple, linked packet networks. This was called the Internetting project and the
system of networks which emerged from the research was known as the "Internet"
(Intercontinental Network). During the course of its evolution, particularly after
1989, the Internet system began to intergrate support for other protocol suites into
its basic networking fabric. By the end of 1991 the Internet has grown to include

some 5000 networks in over three dozen countries, serving over 700,000 host
18



computers used by over 4,000,000 people. The bulk of the system today is made up
of private networking facilities In education and research institutions, business and
In government organizations across the globe. A secretariat has been created to
manage the day-to-day function of the Internet Activities Board (IAB) and Internet
Engineering Task Force (IETF). IETF meets three times a year in plenary and in
approximately 50 working groups convene at intermediate times by electronic
mail, teleconferencing and at face-to-face meetings. There are a number of
Network Information Centres (NICs) located throughout the Internet to serve its
users with documentation, guidance, advice and assistance. As the Internet
continues to grow internationally, the need for high quality NIC functions
increases. Although the initial community of users of the Internet were drawn from
the ranks of computer science and engineering its users now comprise a wide range
of disciplines in the sciences, arts, letters, business, military and government

administration.
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